

On the Cohomology of Certain Rank 2 Vector Bundles on G/B

M. Fazeel Anwar¹

Received: 29 September 2016 / Accepted: 9 July 2018 / Published online: 25 July 2018 © Springer Nature B.V. 2018

Abstract Let *G* be a semisimple, simply connected, linear algebraic group over an algebraically closed field *k*. Donkin (In J. Algebra, 307, 570–613 2007), Donkin gave a recursive description for the characters of the cohomology of line bundles on the three dimensional flag variety in prime characteristic. The recursion involves not only line bundles but also certain natural rank 2 bundles associated to two dimensional *B*–modules $N_{\alpha}(\lambda)$, where λ in an integral weight and α is a simple root. In this paper we compute the cohomology of these rank 2 bundles and simplify the recursion in Donkin (In J. Algebra, 307, 570–613 2007). We also compute the socle of $N_{\alpha}(\lambda)$ and give a rank 2 version of Kempf's vanishing theorem.

Keywords Algebraic groups · Flag varieties · Cohomology · Vector bundles

Mathematics Subject Classification (2010) 20G05 · 20G10 · 20G15 · 17B10

1 Introduction

In [5], Donkin gave a recursive description for the characters of the cohomology of line bundles on the three dimensional flag variety in prime characteristic. The recursion involves not only line bundles but also certain natural rank 2 bundles associated to two dimensional

Presented by: Peter Littelmann

M. Fazeel Anwar fazeel.anwar@iba-suk.edu.pk

¹ Department of Mathematics, Sukkur IBA University, Airport Road, Sukkur, Pakistan

B-modules $N_{\alpha}(\lambda)$, where λ in an integral weight and α is a simple root. These rank 2 bundles also appear in the similar recursive computations for the algebraic group of type G_2 [3]. For $G = SL_3(k)$ the results given in [5] are the only results which give a complete description for the characters of $H^i(G/B, k_{\lambda})$ but due to their recursive nature it is very hard to use them. The purpose of this paper is to compute $H^i(G/B, N_{\alpha}(\lambda))$. Our results significantly reduce the recursion on the results given in [5]. In characteristic zero we give a complete result for the cohomology. In characteristic p > 0 we show that if p does not divide $\langle \lambda, \alpha^{\vee} \rangle$ then $H^i(G/B, N_{\alpha}(\lambda)) = H^i(G/B, k_{\lambda}) \oplus H^i(G/B, k_{\lambda-\alpha})$, for all $i \ge 0$. We also show that if p divides $\langle \lambda, \alpha^{\vee} \rangle$ then $H^1(G/B, N_{\alpha}(\lambda))$ is indecomposable as a G-module. We also compute its G-socle. We give a version of Kemp's vanishing theorem for these rank 2 bundles. In characteristic zero the modules $N_{\alpha}(\lambda)$ are a special case of the modules $V_{\lambda,\alpha}$ appearing in the Demazure's [4] famous proof of the Borel-Weil-Bott theorem. The modules $V_{lambda, alpha}$ also appear in [2].

Let k be an algebraically closed field and let G be a semisimple simply connected linear algebraic group over k. Let B be a Borel subgroup of G and $T \subset B$ be a maximal torus of G. For an algebraic group J, write mod(J) for the category of finite dimensional rational J-modules over k. Define X(T) to be the group of multiplicative characters of T. For a T-module V and $\lambda \in X(T)$, write V^{λ} for corresponding weight space of V. Those λ 's for which V^{λ} is non-zero are called weights of V. The Weyl group W acts on T and X(T) in the usual way.

Choose a real, positive definite, W-invariant, symmetric, non-singular, bilinear form on $\mathbb{R} \otimes_{\mathbb{Z}} X(T)$. Let Φ be the set of non-zero weights for action of T on Lie algebra of T, then $(\mathbb{R} \otimes_{\mathbb{Z}} X(T), \Phi)$ is a root system. We choose the system of positive roots Φ^+ for which B is the negative Borel subgroup and let S denote the set of simple roots. For $\alpha \in \Phi$ the corresponding coroot α^{\vee} is given by $\frac{2\alpha}{(\alpha,\alpha)}$. The longest element of W will be denoted by w_0 . Let $X^+(T)$ denotes the set of dominant weights. The element $\rho \in X^+(T)$ is defined by $2\rho = \Sigma_{\alpha \in \Phi^+} \alpha$. The dot action of W on X(T) is given by $w \cdot \lambda = w(\lambda + \rho) - \rho$ where $\lambda \in X(T)$ and $w \in W$. For $\alpha \in S$, we denote by P_{α} the parabolic subgroup containing B which has α as its only positive root. Given an algebraic group J and a closed subgroup H we have the induction functor $\operatorname{Ind}_H^J : \operatorname{mod}(H) \to \operatorname{mod}(J)$. The category of rational G-modules has enough injectives and so we may define $\operatorname{Ext}^*(-, -)$ as usual by using injective resolutions see e.g. [8]. For $H \leq J \leq K$ and V an H-module we have a G rothendieck spectral sequence converging to $R^* \operatorname{Ind}_H^K V$, with E_2 page $R^i \operatorname{Ind}_{P_{\alpha}}^K R^j \operatorname{Ind}_B^{P_{\alpha}} V$ and V a B-module. We will denote by V^* the dual of V.

For $\lambda \in X(T)$ we denote by k_{λ} the one dimensional (rational) *B*-module on which *T* acts via λ . In what follows we will also denote k_{λ} simply by λ . For $\lambda \in X^+(T)$ let $\nabla_{\alpha}(\lambda)$ denote the induced module $\operatorname{Ind}_{B}^{P_{\alpha}}\lambda$. We will write $\nabla(\lambda)$ for the induced module $\operatorname{Ind}_{B}^{G}\lambda$ and $\Delta(\lambda) = \nabla(-w_0\lambda)^*$. We will also write $H^i(M)$ for $R^i \operatorname{Ind}_{B}^{G}M$. We will denote by $P_{\alpha}/R_u(P_{\alpha})$ the P_{α} -module on which the unipotent radical $R_u(P_{\alpha})$ acts trivially [6].

Let $F : G \to G$ denote the usual Frobenius morphism. By [8, II, 5.20 Proposition a] there is a unique (up to isomorphism) two dimensional indecomposable *B*-module with character $e(0)+e(-\alpha)$ denoted here by $N(\alpha)$ and let $N_{\alpha}(\lambda)$ denote the *B*-module $\lambda \otimes N(\alpha)$, $\lambda \in X(T)$. It is clear that $N_{\alpha}(\lambda) = \nabla_{\alpha}(\rho) \otimes (\lambda - \rho)$.

We will use the socle part of the result of H. H. Andersen given in [1] to give the socle of $H^1(N_{\alpha}(\lambda))$ in positive characteristic. The following proposition states the result for $H^1(\lambda)$ in the notation of [8, II, 5.15].

Proposition 1.1 (Andersen [1])

Suppose char(k)= $p \neq 0$. Let α be a simple root and $\lambda \in X(T)$ with $\langle s_{\alpha} \cdot \lambda, \alpha^{\vee} \rangle \geq 0$.

(1) Suppose $\langle s_{\alpha} \cdot \lambda, \alpha^{\vee} \rangle = ap^n - 1$ for some non-negative integer n and for some positive integer a with 0 < a < p. Then

$$H^{1}(\lambda) \neq 0 \iff s_{\alpha} \cdot \lambda \in X^{+}(T),$$

and if so, then $L(s_{\alpha} \cdot \lambda) = Soc_G(H^1(\lambda))$.

(2) Let $\langle s_{\alpha} \cdot \lambda, \alpha^{\vee} \rangle = \sum_{j=0}^{n} a_{j} p^{j}$ with $0 \le a_{j} < p$ and $a_{n} \ne 0$. Suppose there is some j < n with $a_{j} . Then$

$$H^1(\lambda) \neq 0 \iff \lambda + a_n p^n \alpha \in X^+(T),$$

and if so, then $Soc_G(H^1(\lambda)) = L(\lambda + a_n p^n \alpha)$.

We will also use the socle of the Weyl module for $G = SL_2(k)$ to compute the socle of $H^1(N_\alpha(\lambda))$. The following result is a special case of the above proposition

Proposition 1.2 [7, 6.9] *Let* $G = SL_2(k)$ *and* $\mu \in X^+(T)$. *Moreover* $\mu + \rho = \sum_{j=0}^{n} a_j p^j \rho$

with $0 \le a_j < p$ and $a_n \ne 0$ then

$$Soc_G(\Delta((\sum_{j=0}^n a_j p^j - 1)\rho)) = L((a_n p^n - \sum_{j=0}^{n-1} a_j p^j - 1)\rho)$$

Let G_1 be the kernel of F and E be the natural module for $SL_2(k)$. From the above proposition we can easily deduce the following

Remark 1.3 For $G = SL_2(k)$ the module $E \otimes \Delta(p-1)$ has simple G_1 -socle. This is clear that $E \otimes \Delta(p-1)$ is principal indecomposable as a G_1 -module. Moreover $Soc_{G_1}(E \otimes \Delta(p-1)) = L(p-2)$.

We will first look at the case when char(k) = 0.

2 Characteristic Zero Case

Throughout this section k will be a field of characteristic zero.

Theorem 2.1 Let $\lambda \in X(T)$, $\alpha \in S$ and i > 0. Then

$$H^{i}(N_{\alpha}(\lambda)) = \begin{cases} H^{i}(\lambda) \oplus H^{i}(\lambda - \alpha) & \langle \lambda, \alpha^{\vee} \rangle \neq 0 \\ 0 & \langle \lambda, \alpha^{\vee} \rangle = 0. \end{cases}$$

Proof We give the proof in separate cases.

(1) Let $\langle \lambda, \alpha^{\vee} \rangle < -1$. Using the spectral sequence we have

$$H^{i}(N_{\alpha}(\lambda)) = R^{i-1} \operatorname{Ind}_{P_{\alpha}}^{G} R^{1} \operatorname{Ind}_{B}^{P_{\alpha}}(N_{\alpha}(\lambda)).$$

Since $\langle \lambda, \alpha^{\vee} \rangle < -1$ we have $\operatorname{Ind}_{B}^{P_{\alpha}}(\lambda - \alpha) = 0$. Moreover P_{α}/B is one dimensional so $R^{i} \operatorname{Ind}_{B}^{P_{\alpha}}(\lambda - \alpha) = 0$ for all $i \geq 2$. Hence from the exact sequence $0 \to \lambda - \alpha \to N_{\alpha}(\lambda) \to \lambda \to 0$ we get

$$0 \to R^{1} \operatorname{Ind}_{B}^{P_{\alpha}}(\lambda - \alpha) \to R^{1} \operatorname{Ind}_{B}^{P_{\alpha}}(N_{\alpha}(\lambda))$$
$$\to R^{1} \operatorname{Ind}_{B}^{P_{\alpha}}(\lambda) \to 0.$$

Since all modules for $P_{\alpha}/R_u(P_{\alpha})$ are completely reducible so we get $R^1 \operatorname{Ind}_B^{P_{\alpha}}(N_{\alpha}(\lambda))$ $\simeq R^1 \operatorname{Ind}_B^{P_{\alpha}}(\lambda - \alpha) \oplus R^1 \operatorname{Ind}_B^{P_{\alpha}}(\lambda)$. Therefore

$$I^{i}(N_{\alpha}(\lambda)) = R^{i-1} \operatorname{Ind}_{P_{\alpha}}^{G}(R^{1} \operatorname{Ind}_{B}^{P_{\alpha}}(\lambda - \alpha) \oplus R^{1} \operatorname{Ind}_{B}^{P_{\alpha}}(\lambda))$$
 and we get the result.

- (2) For $\langle \lambda, \alpha^{\vee} \rangle = -1$ we get $H^i(\lambda) = 0$ for all *i*. Also $H^0(\lambda \alpha) = 0$. Therefore by the long exact sequence of induction we get $H^i(N_{\alpha}(\lambda)) = H^i(\lambda \alpha)$.
- (3) Consider now the case $\langle \lambda, \alpha^{\vee} \rangle = 0$ we get $\langle \lambda \rho, \alpha^{\vee} \rangle = -1$ and hence $R^j \operatorname{Ind}_B^{P_{\alpha}}(\lambda \rho) = 0$. So we get

$$H^{i}(N_{\alpha}(\lambda)) = R^{i} \operatorname{Ind}_{P_{\alpha}}^{G} R^{j} \operatorname{Ind}_{B}^{P_{\alpha}} (\nabla_{\alpha}(\rho) \otimes (\lambda - \rho))$$
$$= R^{i} \operatorname{Ind}_{P_{\alpha}}^{G} (\nabla_{\alpha}(\rho) \otimes R^{j} \operatorname{Ind}_{B}^{P_{\alpha}} (\lambda - \rho)) = 0.$$

(4) For
$$\langle \lambda, \alpha^{\vee} \rangle = 1$$
 we consider the long exact sequence

$$0 \to H^{0}(\lambda - \alpha) \to H^{0}(N_{\alpha}(\lambda)) \to H^{0}(\lambda) \to H^{1}(\lambda - \alpha)$$

$$\to H^{1}(N_{\alpha}(\lambda)) \to H^{1}(\lambda) \to H^{2}(\lambda - \alpha) \to \cdots$$

Since $\langle \lambda - \alpha, \alpha^{\vee} \rangle = -1$ we get $H^i(\lambda - \alpha) = 0$. Hence $H^i(N_{\alpha}(\lambda)) = H^i(\lambda)$. (5) Let $\langle \lambda, \alpha^{\vee} \rangle \ge 2$. Using the spectral sequence we have

$$R^{i} \operatorname{Ind}_{P_{\alpha}}^{G} R^{j} \operatorname{Ind}_{B}^{P_{\alpha}} (\nabla_{\alpha}(\rho) \otimes (\lambda - \rho))$$

= $R^{i} \operatorname{Ind}_{P_{\alpha}}^{G} (\nabla_{\alpha}(\rho) \otimes R^{j} \operatorname{Ind}_{B}^{P_{\alpha}} (\lambda - \rho)).$

Since $\langle \lambda, \alpha^{\vee} \rangle \geq 2$ we have that $R^{j} \operatorname{Ind}_{B}^{P_{\alpha}}(\lambda - \rho)$ is zero for all $j \neq 0$. Therefore $R^{i} \operatorname{Ind}_{P_{\alpha}}^{G}(R^{j} \operatorname{Ind}_{B}^{P_{\alpha}}(N_{\alpha}(\lambda))) = R^{i} \operatorname{Ind}_{P_{\alpha}}^{G}(\nabla_{\alpha}(\rho) \otimes \nabla_{\alpha}(\lambda - \rho))$. Since the weights of $\nabla_{\alpha}(\rho)$ are ρ and $\rho - \alpha$ and in characteristic zero we get

$$H^{i}(N_{\alpha}(\lambda)) = H^{i}(\lambda) \oplus H^{i}(\lambda - \alpha).$$

This gives us the required result.

Remark 2.2 If $\langle \lambda, \alpha^{\vee} \rangle = 1$ then $H^i(N_{\alpha}(\lambda)) = H^i(\lambda)$. Moreover for $\langle \lambda, \alpha^{\vee} \rangle = -1$ we have $H^i(N_{\alpha}(\lambda)) = H^i(\lambda - \alpha)$.

3 Characteristic *p* Case

In this section we look at the case when char(k) = p > 0. The following theorem gives the cohomology of $N_{\alpha}(\lambda)$ when λ is a dominant weight. This is essentially a version of Kempf's vanishing theorem for these rank 2 bundles.

Theorem 3.1 Let $\lambda \in X^+(T)$ and $\alpha \in S$.

(1) If
$$\langle \lambda, \alpha^{\vee} \rangle > 0$$
 then $H^i(N_{\alpha}(\lambda)) = 0$ for $i > 0$.

(2) If $\langle \lambda, \alpha^{\vee} \rangle = 0$ then $H^i(N_{\alpha}(\lambda)) = 0$ for all *i*.

Proof We have a short exact sequence

$$0 \to \lambda - \alpha \to N_{\alpha}(\lambda) \to \lambda \to 0.$$

This gives rise to a long exact sequence of induction given by

$$0 \to H^{0}(\lambda - \alpha) \to H^{0}(N_{\alpha}(\lambda)) \to H^{0}(\lambda) \to H^{1}(\lambda - \alpha)$$
$$\to H^{1}(N_{\alpha}(\lambda)) \to H^{1}(\lambda) \to \cdots$$
(1)

Now $\lambda \in X^+(T)$ so $H^i(\lambda) = 0$ for all i > 0 by Kempf's vanishing theorem. For $\langle \lambda, \alpha^{\vee} \rangle > 0$ we have $\langle \lambda - \alpha, \alpha^{\vee} \rangle \ge -1$ and $H^i(\lambda - \alpha) = 0$ because either $\langle \lambda - \alpha, \alpha^{\vee} \rangle = -1$ or $\lambda - \alpha \in X^+(T)$ and the result is true by Kemp's vanishing theorem. So $H^i(N_\alpha(\lambda)) = 0$. For $\langle \lambda, \alpha^{\vee} \rangle = 0$ we use the spectral sequence given by

 $R^{i} \operatorname{Ind}_{P_{\alpha}}^{G} R^{j} \operatorname{Ind}_{B}^{P_{\alpha}} (\nabla_{\alpha}(\rho) \otimes (\lambda - \rho)) = R^{i} \operatorname{Ind}_{P_{\alpha}}^{G} (\nabla_{\alpha}(\rho) \otimes R^{j} \operatorname{Ind}_{B}^{P_{\alpha}} (\lambda - \rho)).$ Since $\langle \lambda, \alpha^{\vee} \rangle = 0$ so $\langle \lambda - \rho, \alpha^{\vee} \rangle = -1$ and hence $R^{j} \operatorname{Ind}_{P_{\alpha}}^{P_{\alpha}} (\lambda - \rho) = 0.$

Remark 3.2 Let $\lambda \in X(T)$ and $\alpha \in S$ with $\langle \lambda, \alpha^{\vee} \rangle = -1$. We have $H^i(N_{\alpha}(\lambda)) = H^i(\lambda - \alpha)$. This follows directly from the long exact sequence given in (1).

The following theorem gives us a condition when $H^1(N_{\alpha}(\lambda))$ will have the same form as in characteristic zero.

Theorem 3.3 Let $\lambda \in X(T)$ and $\alpha \in S$ with $\langle \lambda, \alpha^{\vee} \rangle \leq -2$.

(1) If p does not divide $\langle \lambda, \alpha^{\vee} \rangle$ then for all $i \ge 0$ we have

$$H^{i}(N_{\alpha}(\lambda)) \simeq H^{i}(\lambda) \oplus H^{i}(\lambda - \alpha).$$

(2) If p divides $\langle \lambda, \alpha^{\vee} \rangle$ then $H^1(N_{\alpha}(\lambda))$ is indecomposable as a G-module.

Proof Since $\langle \lambda, \alpha^{\vee} \rangle \leq -2$ by spectral sequence we have $H^1(N_{\alpha}(\lambda)) =$ Ind $_{P_{\alpha}}^G R^1$ Ind $_B^{P_{\alpha}}(N_{\alpha}(\lambda))$. Since Ind $_B^{P_{\alpha}}(\lambda - \alpha) = 0$ and R^2 Ind $_B^{P_{\alpha}}(\lambda - \alpha) = 0$ we get the short exact sequence

$$0 \to R^{1} \operatorname{Ind}_{B}^{P_{\alpha}}(\lambda - \alpha) \to R^{1} \operatorname{Ind}_{B}^{P_{\alpha}}(N_{\alpha}(\lambda)) \to R^{1} \operatorname{Ind}_{B}^{P_{\alpha}}(\lambda) \to 0.$$
⁽²⁾

Note that $R^1 \operatorname{Ind}_B^{P_{\alpha}}(N_{\alpha}(\lambda)) = \nabla_{\alpha}(\rho) \otimes R^1 \operatorname{Ind}_B^{P_{\alpha}}(\lambda - \rho)$. By applying Serre duality on $R^1 \operatorname{Ind}_B^{P_{\alpha}}(\lambda - \rho)$ we get from (2)

$$0 \to \Delta_{\alpha}(-\lambda) \to \nabla_{\alpha}(\rho) \otimes \Delta_{\alpha}(-\lambda + \rho - \alpha) \to \Delta_{\alpha}(-\lambda - \alpha) \to 0.$$
(3)

We switch to the SL_2 -notation here and take $\langle \lambda, \alpha^{\vee} \rangle = -m$, with $m \ge 2$ to get the exact sequence

$$0 \to \Delta(m) \to \nabla_{\alpha}(\rho) \otimes \Delta(m-1) \to \Delta(m-2) \to 0.$$
(4)

Using the linkage principle this sequence splits whenever *m* and m - 2 are not linked. It is clear that *m* and m - 2 are linked if *p* divides *m*. Therefore the sequence (4) splits if *p* does not divide *m*. Therefore the sequence (3) splits if *p* does not divide $\langle \lambda, \alpha^{\vee} \rangle$.

Now suppose p divides $\langle \lambda, \alpha^{\vee} \rangle$ and consider the sequence

$$0 \to \Delta_{\alpha}(-\lambda) \to \nabla_{\alpha}(\rho) \otimes \Delta_{\alpha}(-\lambda + \rho - \alpha) \to \Delta_{\alpha}(-\lambda - \alpha) \to 0.$$

Since $\nabla_{\alpha}(\rho) \otimes \Delta_{\alpha}(-\lambda + \rho - \alpha)$ is projective as a $(G_{\alpha})_1$ -module but $\Delta_{\alpha}(-\lambda)$ is not, therefore this sequence is never split. Hence the sequence (2) splits if and only if p does not divide $\langle \lambda, \alpha^{\vee} \rangle$.

Now if *p* does not divide $\langle \lambda, \alpha^{\vee} \rangle$ then $R^1 \operatorname{Ind}_B^{P_{\alpha}}(N_{\alpha}(\lambda)) \simeq R^1 \operatorname{Ind}_B^{P_{\alpha}}(\lambda) \oplus R^1 \operatorname{Ind}_B^{P_{\alpha}}(\lambda - \alpha)$. Therefore $H^i(N_{\alpha}(\lambda)) \simeq R^{i-1} \operatorname{Ind}_{P_{\alpha}}^G(R^1 \operatorname{Ind}_B^{P_{\alpha}}(\lambda) \oplus R^1 \operatorname{Ind}_B^{P_{\alpha}}(\lambda - \alpha))$. Since $\langle \lambda, \alpha^{\vee} \rangle \leq -2$ by [8, II, 5.4 proposition (c)] we have

$$R^{i-1} \operatorname{Ind}_{P_{\alpha}}^{G} (R^{1} \operatorname{Ind}_{B}^{P_{\alpha}} (\lambda - \alpha)) = H^{i} (\lambda - \alpha)$$

Combining this with the above statement we get the required result in part (1).

Suppose p divides $\langle \lambda, \alpha^{\vee} \rangle$. We will first now show that $H^1(N_{\alpha}(\lambda)) = \operatorname{Ind}_{P_{\alpha}}^G(\nabla_{\alpha}(\rho) \otimes \Delta_{\alpha}(-\lambda + \rho - \alpha))$ is indecomposable by proving that it has a simple socle. We have

$$\begin{aligned} \operatorname{Hom}_{G}(L(\mu),\operatorname{Ind}_{P_{\alpha}}^{G}(\nabla_{\alpha}(\rho)\otimes\Delta_{\alpha}(-\lambda+\rho-\alpha))) \\ &= H^{0}(G,L(-w_{0}\mu)\otimes\operatorname{Ind}_{P_{\alpha}}^{G}(\nabla_{\alpha}(\rho)\otimes\Delta_{\alpha}(-\lambda+\rho-\alpha))) \\ &= H^{0}(G,\operatorname{Ind}_{P_{\alpha}}^{G}(L(-w_{0}\mu)\otimes\nabla_{\alpha}(\rho)\otimes\Delta_{\alpha}(-\lambda+\rho-\alpha))) \\ &= H^{0}(P_{\alpha},L(-w_{0}\mu)\otimes\nabla_{\alpha}(\rho)\otimes\Delta_{\alpha}(-\lambda+\rho-\alpha)) \\ &= H^{0}(G_{\alpha},H^{0}(R_{u}(P_{\alpha})),L(-w_{0}\mu)\otimes\nabla_{\alpha}(\rho)\otimes\Delta_{\alpha}(-\lambda+\rho-\alpha)) \\ &= [L_{\alpha}(-s_{\alpha}\mu)\otimes\nabla_{\alpha}(\rho)\otimes\Delta_{\alpha}(-\lambda+\rho-\alpha)]^{G_{\alpha}} \\ &= \operatorname{Hom}_{G_{\alpha}}(L_{\alpha}(\mu),\nabla_{\alpha}(\rho)\otimes\Delta_{\alpha}(-\lambda+\rho-\alpha)) \end{aligned}$$

Since p divides $\langle \lambda, \alpha^{\vee} \rangle$ and we are now in the case of G_{α} therefore $\langle -\lambda + \rho - \alpha, \alpha^{\vee} \rangle \equiv 1$ mod p. We get $E \otimes \Delta((p-1) + pm) = E \otimes \Delta(p-1) \otimes \Delta(m)^F$. Also

$$\operatorname{Soc}_G(E \otimes \Delta(p-1) \otimes \Delta(m)^F) = \operatorname{Soc}_G(\operatorname{Soc}_{G_1}(E \otimes \Delta(p-1) \otimes \Delta(m)^F)).$$

By remark 1.3 we get

$$\operatorname{Soc}_G(E \otimes \Delta(p-1) \otimes \Delta(m)^F) = \operatorname{Soc}_G(L(p-2) \otimes \Delta(m)^F).$$

Also by proposition 1.2, $\Delta(m)$ has simple socle therefore we compute

 $\operatorname{Hom}_G(L(p-2)\otimes L(r)^F, L(p-2)\otimes \Delta(m)^F) = \operatorname{Hom}_G(L(r), \Delta(m)).$

It is clear from this argument that $\operatorname{Ind}_{P_{\alpha}}^{G}(\nabla_{\alpha}(\rho) \otimes \Delta_{\alpha}(-\lambda + \rho - \alpha))$ has simple socle and hence is indecomposable.

The following proposition and the subsequent corollary and its remark describes the main difficulty in the case when p divides $\langle \lambda, \alpha^{\vee} \rangle$.

Proposition 3.4 If $\langle \lambda, \alpha^{\vee} \rangle = -np$ for some $n \leq p$, then $H^{i+1}(N_{\alpha}(\lambda)) = H^{i}(N_{\alpha}(s_{\alpha}\lambda)),$

for all i.

Proof Consider $R^1 \operatorname{Ind}_B^{P_\alpha}(N_\alpha(\lambda)) = \nabla_\alpha(\rho) \otimes R^1 \operatorname{Ind}_B^{P_\alpha}(\lambda - \rho)$. If $\langle \lambda, \alpha^{\vee} \rangle = -np$ we get $R^1 \operatorname{Ind}_B^{P_\alpha}(N_\alpha(\lambda)) = \operatorname{Ind}_B^{P_\alpha}(N_\alpha(s_\alpha\lambda))$. This gives us the required result.

Corollary 3.5 If $\langle \lambda, \alpha^{\vee} \rangle = -np$ for some $n \leq p$ and $s_{\alpha}\lambda$ belongs to the closure of the dominant Weyl chamber [8] then $H^i(N_{\alpha}(\lambda)) = 0$ for all $i \neq 1$.

Proof The result is clear from the above proposition.

Remark 3.6 It is worth mentioning here that the sequence

$$0 \to H^1(\lambda - \alpha) \to H^1(N_\alpha(\lambda)) \to H^1(\lambda) \to 0.$$

is not always exact. For example take $\langle \lambda, \alpha^{\vee} \rangle = -np$ and if $s_{\alpha}\lambda$ belongs to the closure of dominant Weyl chamber then whenever $H^2(\lambda - \alpha) \neq 0$ we have an exact sequence

$$0 \to H^{1}(\lambda - \alpha) \to H^{1}(N_{\alpha}(\lambda)) \to H^{1}(\lambda) \to H^{1}(\lambda - \alpha) \to 0$$

but the three term sequence

$$0 \to H^1(\lambda - \alpha) \to H^1(N_\alpha(\lambda)) \to H^1(\lambda) \to 0$$

is not exact. For a special case in type A_2 let $\lambda = -pw_{\alpha} + (p-1)w_{\beta}$, where w_{α}, w_{β} are fundamental dominant weights.

The following result gives the socle of $H^1(N_{\alpha}(\lambda))$.

Proposition 3.7 Suppose $\lambda \in X(T)$ with $\langle \lambda, \alpha^{\vee} \rangle \leq -2$.

(1) If $p \nmid \langle \lambda, \alpha^{\vee} \rangle$ then

$$Soc_G(H^1(N_{\alpha}(\lambda))) = Soc_G(H^1(\lambda)) \oplus Soc_G(H^1(\lambda - \alpha)).$$

(2) If $p \mid \langle \lambda, \alpha^{\vee} \rangle$ write $\langle \lambda, \alpha^{\vee} \rangle = -pm, m > 0$ with $m + 1 = \sum_{j=0}^{n} a_j p^j$. We have

$$Soc_G(H^1(N_{\alpha}(\lambda))) = L(a_n p^n - \sum_{j=0}^{n-1} a_j p^j - 1).$$

Proof If $p \nmid \langle \lambda, \alpha^{\vee} \rangle$ then by Theorem 3.3 we get $H^1(N_{\alpha}(\lambda)) = H^1(\lambda) \oplus H^1(\lambda - \alpha)$ and the result is clear. Moreover $\text{Soc}_G(H^1(\lambda))$ and $\text{Soc}_G(H^1(\lambda - \alpha))$ are given by Proposition 1.1. When $p \mid \langle \lambda, \alpha^{\vee} \rangle$ we compute

$$\operatorname{Hom}_{G}(L(\mu), H^{1}(N_{\alpha}(\lambda)) = H^{0}(G, L(-w_{0}\mu) \otimes H^{1}(N_{\alpha}(\lambda)))$$
$$= \left[R^{1}\operatorname{Ind}_{B}^{G}(L(-w_{0}\mu) \otimes H^{1}(N_{\alpha}(\lambda))) \right]^{G}$$

By using Frobenius reciprocity we get

$$\left[R^{1}\mathrm{Ind}_{B}^{G}(L(-w_{0}\mu)\otimes H^{1}(N_{\alpha}(\lambda)))\right]^{G}=R^{1}\mathrm{Ind}_{B}^{G}(L(-w_{0}\mu)\otimes H^{1}(N_{\alpha}(\lambda)))^{G}$$

We know that $R^1 \operatorname{Ind}_B^G M = \operatorname{Ind}_{P_{\alpha}}^G R^1 \operatorname{Ind}_B^{P_{\alpha}} M$ and $N_{\alpha}(\lambda) = \nabla_{\alpha}(\rho) \otimes (\lambda - \rho)$ therefore

$$R^{1} \operatorname{Ind}_{B}^{G} (L(-w_{0}\mu) \otimes H^{1}(N_{\alpha}(\lambda)))^{G}$$

= $\operatorname{Ind}_{P_{\alpha}}^{G} (L(-w_{0}\mu) \otimes \nabla_{\alpha}(\rho) \otimes R^{1} \operatorname{Ind}_{B}^{P_{\alpha}}(\lambda - \alpha))^{G}$
= $\operatorname{Ind}_{P_{\alpha}}^{G} (L(-w_{0}\mu) \otimes \nabla_{\alpha}(\rho) \otimes \Delta_{\alpha}(-\lambda + \rho - \alpha))^{G}$
= $(L(-w_{0}\mu) \otimes \nabla_{\alpha}(\rho) \otimes \Delta_{\alpha}(-\lambda + \rho - \alpha))^{P_{\alpha}}$

1107

We have $G_{\alpha} = P_{\alpha}/R_u(P_{\alpha})$ and $R_u(P_{\alpha})$ acts trivially on $\nabla_{\alpha}(\rho) \otimes \Delta_{\alpha}(-\lambda + \rho - \alpha)$. Also $(L(-w_0\mu))^{R_u(P_{\alpha})} = L_{G_{\alpha}}(-s_{\alpha}\mu)$ therefore we get

$$\operatorname{Hom}_{G}(L(\mu), H^{1}(N_{\alpha}(\lambda)) = [L_{\alpha}(-s_{\alpha}\mu) \otimes \nabla_{\alpha}(\rho) \otimes \Delta_{\alpha}(-\lambda + \rho - \alpha)]^{G_{\alpha}}$$
$$= \operatorname{Hom}_{G_{\alpha}}(L_{\alpha}(\mu), \nabla_{\alpha}(\rho) \otimes \Delta_{\alpha}(-\lambda + \rho - \alpha))$$

We take $\langle \lambda, \alpha^{\vee} \rangle = -pm$. Following the argument of Theorem 3.3 we get

$$\operatorname{Soc}_{SL_2}(E \otimes \Delta((p-1)+pm)) = \operatorname{Soc}_{SL_2}(L(p-2) \otimes \Delta(m))^F$$

Also

$$\operatorname{Hom}_{SL_2}(L(p-2)\otimes L(r)^F, L(p-2)\otimes \Delta(m)^F) = \operatorname{Hom}_{SL_2}(L(r), \Delta(m)).$$

We follow the notation of Proposition 1.2 and write $m + 1 = \sum_{j=0}^{n} a_j p^j$. We have

$$\operatorname{Soc}_{SL_2}\Delta(m) = L(a_n p^n - \sum_{j=0}^{n-1} a_j p^j - 1).$$

Acknowledgments I am very grateful to Stephen Donkin for his suggestions and valuable remarks. I would also like to express my gratitude to H. H, Andersen for his remarks about Proposition 3.4. The research was partially supported by EPSRC grant EP/L005328/1 held by Michael Bate to whom I am also grateful for hospitality.

References

- 1. Andersen, H.H.: The first cohomology group of line bundle on G/B. Invent. Math. 51, 287–296 (1979)
- Anwar, M.F.: On the cohomology of certain homogeneous vector bundles of *G/B* in characteristic zero. J. Pure Appl. Algebra 216(5), 1160–1163 (2012)
- Anwar, M.F.: Representations and cohomology of algebraic groups. PhD thesis, University of York, UK (2011)
- 4. Demazure, M.: A very simple proof of bott's theorem. Invent. math. 33, 271-272 (1976)
- Donkin, S.: The cohomology of line bundles on the three-dimensional flag variety. J. Algebra 307, 570–613 (2007)
- Donkin, S.: Rational representations of algebraic groups: tensor products and filtrations. Lecture Notes in Math, vol. 1140. Springer, Berlin (1985)
- Jantzen, J.C.: Darstellungen halbeinfacher Gruppen und ihrer Frobenius-Kerne. Journal f
 ü,r die reine und angewandte Mathematik 317, 157–199 (1980)
- Jantzen, J.C.: Representations of algebraic groups. In: Math. Surveys Monogr., vol. 107. Amer. Math. Society. 2nd edn. (2003)